
Π
K

2
4

A

Π
K

2
4

K

Χ
Α

Λ
Κ

2
6

Χ
Α

Λ
Κ

2
7

Π
K

2
4

A
Π

K
2

4
K

Π
K

2
4

BΑ

40.00

Β

40.00

Γ
1

2.50
Δ

40.00Ε

40.00

Ζ

1
2.50

Δ
ή

μ
ο

ς Ν
έα

ς Π
ρ

ο
π

ο
ν

τίδ
α

ς
Δ

.Ε
. Ν

.Κ
α

λλικρ
ά

τεια
ς

Θ
έσ

η: Π
α

ρ
α

λία
 Η

ρ
ά

κλεια
ς

Κ
Ω

Δ
: Π

Κ
24

Κ
α

λο
κα

ίρ
ι 2022

Ο
 Σ

Υ
Ν

Τ
Α

Ξ
Α

Σ

Θ
έσ

η
 Π

K
2

4
K

 - Ε
μ

β
α

δ
ό

ν Κ
α

ντίνα
ς =

 15.00 τ.μ
.

Θ
έσ

η
 Π

K
2

4
A

 - Ε
μ

β
α

δ
ό

ν =
 500.00 τ.μ

.

α
/α

                    Χ
                    Υ

             Α
π

οσ
τά

σ
εις

----
Β

4
1

6
4

6
4

.60
4

4
6

4
3

8
1

.75
Γ

4
1

6
4

7
0

.67
4

4
6

4
4

2
1

.29
Β

 - Γ
: 4

0
.00

Δ
4

1
6

4
8

3
.03

4
4

6
4

4
1

9
.39

Γ
 - Δ

: 1
2

.50
Ε

4
1

6
4

7
6

.95
4

4
6

4
3

7
9

.85
Δ

 - Ε
: 4

0.00
E

 - B
: 1

2.50

α
/α

                    Χ
                    Υ

             Α
π

οσ
τά

σ
εις

Α
4

1
6

4
8

3
.94

4
4

6
4

3
4

7
.56

----
Β

4
1

6
4

8
4

.70
4

4
6

4
3

5
2

.50
Α

 - Β
: 5.00

Γ
4

1
6

4
8

1
.73

4
4

6
4

3
5

2
.96

Β
 - Γ

: 3
.00

Δ
4

1
6

4
8

0
.97

4
4

6
4

3
4

8
.02

Γ
 - Δ

: 5
.00

Α
4

1
6

4
8

3
.94

4
4

6
4

3
4

7
.56

3
.0

0

α
/α

                    Χ
                    Υ

             Α
π

οσ
τά

σ
εις

Α
4

1
6

4
5

8
.52

4
4

6
4

3
4

2
.22

----
Β

4
1

6
4

6
4

.60
4

4
6

4
3

8
1

.75
Α

 - Β
: 4

0.00
Ε

4
1

6
4

7
6

.95
4

4
6

4
3

7
9

.85
B

 - Ε
: 1

2.50
Ζ

4
1

6
4

7
0

.88
4

4
6

4
3

4
0

.32
Ε

 - Ζ
: 4

0.00
Α

4
1

6
4

5
8

.52
4

4
6

4
3

4
2

.22
Z

 - A
: 1

2.50

Θ
έσ

η
 Π

K
2

4
B

 - Ε
μ

β
α

δ
ό

ν =
 500.00 τ.μ

.

Β
4

1
6

4
6

4
.60

4
4

6
4

3
8

1
.75


